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CCRPI Score Overall Score = 100 Points
T2.7

Sum of Achisvement, Progress, Achisvement Gap, and Challenge Paints

[ele b PHKK,01,02,03,04,05,06,07,08,09,10,11,12

Challenge Points

Achievement Gap Points EIVEL/SWD = Financial Efficiency Rating School Climate Rating
P o Exceeding the

Points Bar Points

Achievement Points Progress Points

Achievement = 60 Points Progress = 25 Points  Achievement Gap = 15 Points

Content Mastery = 40% Utilizes SGPs Utilizes Bottom Quatrtile
Post Readiness = 30%

Grad Rate/Predictor = 30%

Challenge Points = 10 Points



2014 CCRPI Achievement Scoring

Achievement — 60 points

Elementary School

Middle 5chool

High School

Content Mastery (40%) - CRCT

Content Mastery (40%) - CRCT

Content Mastery (40%) - EOCT

40% x 60 =40 x60=24
5 indicators
24 / 5= 4.8 points each

40% x 60=.40x60=24
5 indicators
24 / 5= 4.8 points each

40% x 60=.40x60=24
8 indicators
24 [/ 8= 3 points each

Post Readiness (30%)

Post Readiness (30%)

Post Readiness (30%)

I0% x60=30x60=18
7 indicators
18 / 7= 2.574 points each

0% x60=30x60=18
6 indicators
18 / 6= 3 points each

3% x60=30x60=18
8 indicators
18 / 8= 2.25 points each

Grad Rate/Predictor (30%)

Grad Rate/Predictor (30%)

Grad Rate/Predictor (30%)

I0% x60=30x60=18
2 indicators
18 / 2 =9 points each

0% x60=30x60=18
2 indicators
18 / 2 = 9 points each

30% x 60 =.30x60=18

2 indicators

d-year cohort grad rate = 2/3 of 18 = 12 points
S-year cohort grad rate = 1/3 of 18 = 6 points




2015 CCRPI Achievement Scoring

Achievement — 60 points

Elementary School

Middle School

High School

Content Mastery (40%) - EOG

Content Mastery (40%) - EOG

Content Mastery (40%) - EOC

40% x 60 =.40x60=24
4 indicators
24 / 4 = 6 points each

40% x 60 =.40x 60 =24
4 indicators
24 / 4 = 6 points each

40% x 60 =.40x 60 =24
8 indicators
24 / 8 =3 points each

Post Readiness (30%)

Post Readiness (30%)

Post Readiness (30%)

3% x60=30x60=18
& indicators
18 / 6= 3 points each

I x60=.30x60=18
S indicators
18 / 5= 3.6 points each

I x60=.30x60=18
8 indicators
18 / 8= 2.25 points each

Grad Rate/Predictor (30%)

Grad Rate/Predictor (30%)

Grad Rate/Predictor (30%)

3% x60=30x60=18
2 indicators
18 / 2 =9 points each

I x60=.30x60=18
2 indicators
18 / 2 =9 points each

3% x60=.30x60=18

2 indicators

d-year cohort grad rate = 2/3 of 18 = 12 points
5-year cohort grad rate = 1/3 of 18 = 6 points
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